A | B c | D

Hordoop.cs of e decument ane contercd ucoouolied md &7¢ W be wsed fof clcren.c val  Tho wsteg s dovumen: for tefercrce musi tahe a3 e astions 1 atiabis w cassrc

“cuoa:, w iia Bt 8 saagle

Lo MA IAL CIFICATIONS
BANNER, DUPLEX RECEPTACLE HGOTEE: Gl & PHISCAL PROPERTES O 4553 G |
& HANDHOLE. - ANIHOR BOLTS: ASTM F1554 GRSS5 TOP END GALY
FLOWER BOWL 3 1/2 00 ANUHOR BOLT NUTS: ASTM AS63 GR. A GALV. TO A153
3" SCH40 STL PIPE T WISZ. HOWE: (STN. STL) AIS! 300 SERFES (18-8)
& IS, HDWE: (STEEL) ASTM A307 H.D. GALY TO ASTM A153
61/2 AR CASTING: CAST ALUM 356-T6

16 e TRISTER ORPAVENTAL BASE & MISC. CASTINGS: CAST ALUM A319-0)
" 1 ¢ HH FRAME: ASTM-A528 GRS0/A709 RS0
1/2 ( 61/2700 & 7700 |,y cover: Cloto STL.

FLOWER BOWL

AL PIPE: 6081, 8063
3/16) ALUW PLATE: 8061, 6083
FINISH PAINT: HD GALYV & POWDER CUATED CBO GREEN

180° FLAG HOLDER OUTLET FRAME WELLED ASSEMBLIES HEAT TREATED TO 16 TEMPER
3/18]

3/16]

STYLE G LUMINAIRE
PRISMATIC GLOBE PER
DWG. NOS. NL318R-3-A1 Vi
& NL318R-3-A2 TO BE
ORDERED SEPARATELY.
LED OTHERS.

FINIAL MODIFIED.

(2) SETS OF
SN STL

—GFCl 20A 125V DUPLEX RECEP. W/
SET SCREWS WET WHILE IN USE COVER

™

CAST ALUMINUM BAND 9" —
SLIPS OVER TENON.
64 SERIES BAND

18"
ey

t .j l_ € 1/2" HOLES

7 REMOVABLE FIELD INSTALLED
FLOWER BOWL CAST & FABRICATED ALUMINUM

~

o1 21/32"

30"x60"
BANNERS
(3Y OTHERS)

|
|

HOLDER WELDED FLAGHOLDER SECURED BY (2) SS 60"
TO BOTTOM OF : 3/8" DIA. CAP SCREWS W/ FLAT
ARMS (SEE DETAIL) @ WASHER & LOCKWASHERS INTO
1-1/4 SCH 40 HEX NUTS WELDED TO POLE i
ALUM. ARMS W/ CENTERED OVER 1/2" DIA. HOLES. s

5 WELDED ALUM
END ORNAMENT. 2>J—/WSV——°\

16"-0" NOM

-| MTG HGT

(2) 1 1/4" SCH 40 PIPE ARMS,

13'-6" EACH SCREWED INTO 1 1/4" BHC
NOM. 11 GA. (.1196") 16 FLUTE T (WELDED IN POLE) WITH ALUM.
TAPERED STEEL MONOTUBE ( END ORNAMENT @ 0"
4 /nr—s.so“ X 6.50" X 14'-3" 4

— GFCl 20A 125V DUPLEX RECEP.
W/ WET WHILE CLOSED COVER.
OPPOSITE SIDE OF POLE @ 180"
INSTALL COVER WITH HINGE AT
BOTTOM FOR EASIER ACCESS.
(DUPLEX NOT SHOWN)

ACCESS DOOR ON BASE NOTCHED
1/2" x 3/4" LONG FOR POWER CORD.
REQUIRED FOR DESIGN —Y2 ONLY.

3/8" DIA HOLE

3/8" PL

. R1/2"
.08" 0.0, TUBE DIA

208" 0.0, TUBE DIA o FoR

4% 6 1/2" OPENING HANDHOLE

FRAME W/ 1/2-13 GRD &
CONTINUOUS WELD INTO TUBE
(COVER INCLUDED)

53-54AH CAST ALUMINUM
ORNAMENTAL SPLIT BASE W/
(2) ACCESS DOORS @ 180"
W/ SST SCREWS

N\

I 15" HAND HOLE
14" DUPLEX —

RACE 180°
N Va7 25 1/2" —
ACROSS CORNERS

DESIGN No. BANNER ARM.

B1775—54~821=Y1 YES

B1775-54-B21—Y2 | NO NOTE 1.

LY

ANCHOR BOLTS ON 45" ¢'S

\— 1% THK x 12" SO BASE PLATE 2

2 o]
41" DIA. X 36" % 4" ANCHOR BOLTS
247 o (4 1/4* PROJJW/ (2) HEX NUTS ON A
ACROSS FLATS : 12" B.C. (8 1/2" CIRS.)
NOTE 1. BANNER ARMS, FLAG HOLDER AND FLOWER BOWL ARI4S ORDERED ON DESIGN —YI ONLY.
| DESIGN —Y2 POLE ARRANGED FOR ALL ITEMS BUT ARMS AND.FLAG HOLDER NOT INCLUDED AND |-
(4) 1-1/4" PIPE PLUGS AND (2) 3/8" HEX HD CAP SCREWS WITH EACH POLE.
STATE: _OHID | Reos / S0f : NOH-63638-1 [ JESCRIPTION T owre v o o
1 PROJECT NAME: CENTENNIAL PLAZA REVISIONS 1

ORNAMENTAL SINGLE LIGHTING STANDARL
WITH BANNER, FLOWER BOWL ARMS, FLAG BRACKET & GFCI RECEPTACLE

This dovument and the contents herein arc proprietary and the property of [DESIGNED BY  |CHECKED BY  |DATE
. . Union Meta! Industrics This dovummest 1 not to be, capicd, reproduced. of

UNION METAL e for any reasan cxcept for the perposes wiich it was issued vithout the| __ MRB 6/13/19
INDUSTRIRS express written consent of Usnan Metal Industrics. Furthermore Union,

CORPORATION rwﬁ:lnLM'mmmm)' x\:s she ght t secall this document and si! copies at N 1775_53/54_821
¥

A ! B £ 3 c




